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X9312
0 x 9312 = 0

1 x 9312 = 9312

2 x 9312 = 18624

3 x 9312 = 27936

4 x 9312 = 37248

5 x 9312 = 46560

6 x 9312 = 55872

7 x 9312 = 65184

8 x 9312 = 74496

9 x 9312 = 83808

10 x 9312 = 93120

11 x 9312 = 102432

12 x 9312 = 111744

13 x 9312 = 121056

14 x 9312 = 130368

15 x 9312 = 139680

16 x 9312 = 148992

17 x 9312 = 158304

18 x 9312 = 167616

19 x 9312 = 176928

20 x 9312 = 186240

21 x 9312 = 195552

22 x 9312 = 204864

23 x 9312 = 214176

24 x 9312 = 223488

25 x 9312 = 232800

26 x 9312 = 242112

27 x 9312 = 251424

28 x 9312 = 260736

29 x 9312 = 270048

30 x 9312 = 279360

31 x 9312 = 288672

32 x 9312 = 297984

33 x 9312 = 307296

34 x 9312 = 316608

35 x 9312 = 325920

36 x 9312 = 335232

37 x 9312 = 344544

38 x 9312 = 353856

39 x 9312 = 363168

40 x 9312 = 372480

41 x 9312 = 381792

42 x 9312 = 391104

43 x 9312 = 400416

44 x 9312 = 409728

45 x 9312 = 419040

46 x 9312 = 428352

47 x 9312 = 437664

48 x 9312 = 446976

49 x 9312 = 456288

50 x 9312 = 465600
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